El

5]

[5]

7__ 1%
T n

LLT TPE

F—;yjf Home warlc
stat Zo/

2) Number of childven. i a Sociely
b) The distance between Cities .

:L)) fi"o‘:l droups oF Feofle
e weightof vegetable boyes.

a
b)) ;hz unber of chilclren, in 5 Femilies. (59 Y 0 I)
he weights of 5 Persons - ( 7g, 82,110, 95 6?))

<) The Grads of 7shdeds: (AR, c n o FA)

a) Quantitative b) Quaﬂi'fbx.tf've. ,

c) Qualdative , d) QuankLitative . e)Quali Eakive

a) Conf‘;‘nuousi b) Discrets . c)Discrels

d) Conlinuoys. €) Conlinuoys .

X X2 X_?. Xy X, XJ )(7 Xs X
’ 5 9 Xla XU XIL
2.4,5.6,6,6,77 359 3

A) The mean

34t/+5‘+6+6+6+7+7+8+8’+9+5 7 ’
= I — 3
2 "Iz 165

b) The MHode °

Hode: is avelue, which ha_ts #e M}hcsf fmfumcd

0

Scanned by CamScanner



<) The Standavol deyiation :
S:\/Sl :ﬁrm‘—(m}z :/ 12 (5464) - (78)°

nin-y) 12(12 -1)

= 3.545 -[1.383]
) Stundand scare For Hee value 7.

Z: _§=7-J‘5=O-265
3 1.3383

€) Co Gfﬁ'cfmt of Varialisr_ .

[.g83
6.5

CWN = -E—-’OO -
X

Moo= 29,97

£) U5/'ﬁg. EmPivical Rule ;
(X t2s) = (45 £(1333), 6.5 1+ 2¢1.933)

=(2.73¢) , (10-246)
we nile M all dgﬁ NE EL“M} Ljiﬂ‘_fr]_ flin infev‘\fcué
(2734, 19.244)

3)
k=9
: { | P
Q__.E o 13 = t{f{ﬂ_ﬂ) = 3(:‘{21-)')‘-'- 3-7’5 T S:Ov-FS

QS-‘- Xk + S?kaﬂ‘ Xk) = Xg +0~75(xto'7(9)
Qs= 8+0.75(8-8) =[ 8]

k=6
A

o ds:-ﬂ)_z 20L4D = 6.5 ~— S=0.5
10 ()4

Dg=Xc+S (Xk*.,—Xk) =Xg +e5 (XZ”XS) |
= b +05(F -4) :]E r05=62z=6-'5[ ®

Scanned by CamScanner

| £




Ber o PO ast2u) [355). 70

loo 106

25 = Xx + S(Xk,_,—)(x) = A3 +o-25(xt/~X3)
= 5+0.25 (4-5) \525[ \{-2" :Q,:g.zs]

LE _ a,

- "5'(4’23—62,) = 9.25 - /.5(¢-5.25) =|{.125
HF- q, 4 I5(Qs-@,) = E’+I.5(5’-5‘25):l 2,125

h) Trave s
Z:t IS 1o Values less fan | F o more tHan HF
e (s, ey lieme vsadues,

/)

3 .

4

Scanned by CamScanner




] ?) Nuntbey., £

b,

13-
12 -
Il -
10 -

3’

- N ow o= W Oy
I W W R W 1

K=5

- T
. R“n&ck -R':XL"XS: 28 -3 =20

- Le
K

classes Kk =|3312logn| =) 3327 Loq up)=]5.3)

=Yn=5
5

~Lengli, of class Limit + < _) - 5.1 -y

clasg
Lim/t

——

class
B awna[an'es

Class
Hid Poink
Xi

Frequeny
JFI’

’ ASCendrhg_ Cumulative

Frequency (A.C.F)
(f) = :

g —12

75 > 12.5

A5 +12.5_
_i___,l()

o

O

13 -17

12.5 > 7.5

15

13

23

|75 > 225

20

33

Z 2255275

33

27.5 —32.5

Ho

— — — —

—_—— — —

=~

A\
=

2

4 Y |

NN
NN

t + t t 1 1 T >
§ 10 15 2 25 30 35 Xi

Scanned by CamScanner



. CgG/?scend:ﬂ} Cumulplive ﬁ«queng Potﬁgmz (ACFP)

LKOSQT . | Yo

"

39 ~
N
30 -

25 -
23

20 -

15

P55 (15 905 ghs g o Dewddavies

‘i) ~ The /'iea/z;
X—: Z/fi',r,-_ 10C16)+1305) +10(20) + 6(25)+1(30) _ é__ff; 6.8 F5
z5 Yo )
= Jhe Meclinn 2

% The MHeolian class: wheve Ffr 24y v Bove Z')fi :.{o

Tlen, fiemedmn class Is 12.5 »175
~ IB _(F P
2 (F-7)

=20

3(1 = L +
= 2.5 4 20—’(323—1345 = 16.34§
- me f{aie o
¥ The Modal class is the Second. class
AT di
X=L+—xC =
_cll +d1

- 12.5.,.__3___1(-5 = |5
3+3 @

Scanned by CamScanner



U

1 fa

- TI«L S’Tm,noLOW‘cl oLE’AHuﬁUYL- %
First we calculale the vomonce:

S‘-: bl ﬁ [Xf‘"?_()l
&) -

. ’0(’0"6'3?5)??"'3“5*’5-“?5)?:1-10(20—!6.‘6?5)?}5(25-hs.s;!s)"+1(30-16.%?537'

Ho - |

ST= _U72.66+95.70+ 97.66 +396.09 +172.26 _ 3,37
39

S=VS* _ /3,32 = 5.51

Scanned by CamScanner



q)___‘___;

[ lass Class e
Bouniaics| it | Fewnes | Gl per
- ’ Frequency Fi
-355).5 _
ity I 10 o
5 4.5
s T 20 30
&5 Il5| g 20 50
h5—ks| 1y 1y 44
6.5 215 19 4 O
2.5 25| 9y 1y gy
:__ T JIE‘:H:%’-{ S

b) The dali have 0Ne Meode .

c) we ok Yool Hove is Two Modal closs whief, Second
Omi third, class Heen

10

X| L + Q ".:‘-15 e —
oh+cl7, b i :o+o s’ -
XZ— L+ ‘ -'-6 S = 6‘5
A r Frg¥s =l
we Neole Hy, t R, = —6 S, then tZe oata have one mecle

1 Q :65,

) The median class : Wheve TE =Y  HerpPore 28, =51 )
Then, ‘/ie,er/{mnclaSS IS §c_silc

T, Z ;(F*f)xc _é5+ Y2 -(50-20)
7 20

~
N =

% - 9.5

(7

Scanned by CamScanner



Consider e following ascending cumulative frequency pol

ygon of grouped data: (6 marks
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10) The following two data sets

School A

School B

represent grads of 45 students in two schools A and B: (8 marks)

B A ABCCFAAATHBF
A CAAF ABACBTGEC
CDFADADDA_FAB
FB,\Q(,‘BBAA*AA
BBAACAAADABD
BAAFAAACBAAB

QT (> > ||z

QO QO = >

Complete the following frequency table for the above data, and draw the multiple bar graph for them.

Grad Frequency for | F FEQUENCY fOr | A% o ---ceesoennn T
School A SEHUOLE | gt Jf e e o
A I8 2l o
B I S N
C 3 3 N ety
D Y 3 et
F Q
6 = A c D F
Total 45 Y5

School A 7 L7 ]

Schoof_ R
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I S L IIRTALY |
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